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>

3000 =

N
1=
1=
15}
1

Detected

1000 -

0D-!- 1 = O =

T T T T T T T
REF Pcorr BN  GENIE3 ARACNE CLR SCENIC SCODE PIDC

method
HSC

o

400 o

300 -

Detected

200
] D ! Q I !
o || [
T T
REF

T T T T T T T
Pcorr BN GENIE3 ARACNE CLR SCENIC SCODE PIDC

method
4000 o
T 3000 4
S
2
5]
o)
© 2000
(@]
1000
o O — B == ==
T T T T T T T T
REF Pcorr BN  GENIE3 ARACNE CLR  SCODE  PIDC
method
D Sim2
40 A
-5 304
L
3]
L 4
o)
(@]
104 —
0+ I:I L
T T T T T T T T
REF Pcorr BN  GENIE3 ARACNE CLR  SCODE  PIDC

method




